ReemKassen Monday, March, 14th, 2011. Math Correction for the Hid Term Exam $\frac{-1-}{1)} = \frac{(-7)^{3} \times (-5)^{-4}}{49 \times 5^{-6} \times (-7)} = \cancel{0}^{-3} \times 5^{-4} = \frac{-7^{3} \times 5^{-4}}{7^{2} \times 5^{-6} \times (07)} = \frac{-7^{3} \times 5^{-4}}{7^{2} \times 5^{-4}} = \frac{-7^{3} \times 5^{-4}}{7^{2} \times 5^{-6} \times 7} = 5^{-4-(-6)} = 5^{-4+6} = 5^{2}$ True 2) f(x) = -x + 1x+2 and: x+2+0=) [x+-2] True since 1=-2 is not a natural integer. 3) $f(x) = x^2 - 2x - 2$ $P(1-V_3) = (1-V_3)^2 - 2(1-V_3) - 2$ $= 1^{2} - 2(1)(\sqrt{3}) + (\sqrt{3})^{2} - 2 + 2\sqrt{3} - 2$ =1-213+132-2+28-2 = 1+3-2-2+1 = 3+1-2-2 = 4=4 =0 Fake

4) 4 In A ABC Ordin quadrilateral EDBFWE have! Size E is the midpoint of [AC] (given). 4 Distremidpoint of [AB] (given) then, (ED) // (CB) (midpoint theorem in ony D) but, C, F, and B are collinear (Fis the midpoint of ECBJ) (gies) -) (ED)//(FB) but, ED= BC (midpoint theorem in any D) . and since FistRemidpointof[BC] (given) SO, ED= CF= FB THUS, EDBFis appoiltelogram having 1 pair of porallel and equal sides) True. 5) AB: 175 AC=3127 BC=2172 AB= 13x52 - 513 $AC_{=} = 3\sqrt{3}\sqrt{3} = 9\sqrt{3}$ $BC_{=} = 2\sqrt{12} = 2\sqrt{3}\sqrt{2} = 4\sqrt{3}$ $= \frac{AB+BC-AC}{5\sqrt{5}+4\sqrt{3}} = \frac{9}{9\sqrt{3}} = \frac{9}{9\sqrt{3}}$ Thus, pank A, B, and Care colline or True 5V3 B UB

$$\begin{aligned} &= \\ \begin{array}{l} &= \\ & 1$$

-11-Part:A: $(1)a)^{P}(x) = (5x-4)^{2} - (1-3x)^{2} (Form a^{2}-b^{2}=(a-b)(a+b))$ $= \left[(5x)^2 - 2(5x)(y) + (4)^2 \right] - \left[1^2 - 2(1)(3x) + (3x)^2 \right]$ $= \left[25x^{2} - 40x + 16 \right] - \left[1 - 6x + 9x^{2} \right]$ 25x2. 40x+16 -1+6x-9/2 P(x) = 16x2-34×+15) where a=16, b=-34+c=15 b) $P(x) = 14x^2 - 34x + 23$ $16x^2 - 34x + 15 = 14x^2 - 34x + 23$. $16x^2 - 14x^2 - 34x + 34x = 23 - 15$ 2 x² = 8 2 = 2 x² = 4 x² = X2 - 2=0 So, x-2=0 or x+2=0 Thus, X= +2 $(2)a)4x^2 - 12x + 9$ $= (2x)^2 - 12x + (3)^2$ E (2X -3)2 Which is a perfect square. $Q(\mathbf{x})$ $= 41x^{2} - 12x + 9 + 3(2x - 3)(2 - x) - 4x + 6$ $= (2 \times 3)^2 + 3(2 \times 3)(2 - x) + 2(2 \times 3)$ $=(2 \times 3)^{2} + 3(2 \times 3)(2 - \lambda) - 2(2 \times 3)$ =(2x-3)[(2y-3)+3(2-x)-2]2x-3) [2x-3+6-3x-2] f(x) = (2x-3)(-x+1)

b) $P(x) = (\mathbf{B}x - 4)^2 - (1 - 3x)^2$ S_{2} , $P(\frac{3}{2}) = (5(\frac{3}{2}) - 4)^{2} - (1 - 3(\frac{3}{2}))^{2}$ $=(\frac{15}{2}-4)^{2}-(1-\frac{9}{2})^{2}$ $-(15-8)^2 - (2-9)^2$ $=\left(\frac{-7}{2}\right)^{-}\left(-\frac{7}{2}\right)^{2}$ $P(\frac{2}{2}) = \frac{49}{9} - \frac{49}{9} - \frac{49}{9} - \frac{49}{9} - \frac{9}{9} = \frac{9}{9} = 0$ hence X=3 is a root for P(x). $Q(x) = (2 \times -3)(-x+1)$ So, $G(\frac{3}{2}) \neq 2(\frac{3}{2}) - 3(-(\frac{3}{2}) + 1)$ =(3-3)(-3+1)= (0) (-3+2 (0) (=1)Q(2)=0 hence, I=3 is avoot for Q(x). Thus $\chi = \frac{3}{2}$ is a common root for P(x) + Q(x)大学はシング

8th-G Midterm Correction standards. (10-11)

 $P(x) = (5x-4)^2 = (1-3x)^2$ 3) $T(x) = \frac{P(x)}{P(x)}$ a) $P(x) = (5x-4)^2 - (1-3x)^2$ $= \Gamma(5x-4) - (1-3x) \Gamma(5x-4) + (1-3x) ($ = [5X-9-1+3X][5X-9+1-3X]P(x) = [8x - 5 [2x - 3]b) T(x) = (8x-5)(2x-3)(2x-3)(-X+1) This Fraction & defined for all real values of X such that X== 3 and x= 1, $T(x) = \frac{(8 \times -5)(2 \times 3)}{(2 \times 3)(2 \times 1)} = \frac{8 \times -5}{-X + 1}$ $\frac{PartB}{AD=x+3}$, DC=3x-1 AB=x+9 $(A_{ABCD} = H(b_1 + b_2) = (X+3)(3X+1+X+9) = (X+3)(4X+8)$ $=\frac{4(x+3)(2x+4)}{2} = (x+3)(2x+4) = 2x^{2} + 4x + 6x + 12$ Apr = 2x2 + 10 x + 12

(For AHCD to be asquare) then, DC = AD 2) SO, X+3= 3X-1 X - 3x - 1 - 3 $\frac{-2x}{-2} = \frac{+4}{+2}$ x = 2Now, AHCDis asquare after being a rectargle +2000secutive equalsides. 3) 2=2 $A_{ABCD} = 2x^{2} + 10x + 12$ = 2(2)² + 10(2) + 12 =2(4)+20+12. AABO = 40 guare unit. BC= 5cm, ABC=60°, ACB=30°, AO=05, BAC=90° 1) 2) BAC=? $B\hat{A}C + A\hat{B}C + A\hat{C}B - N\hat{U}(sum of angles in a D = 180^{\circ})$ $B\hat{A}C + 6\hat{v}^{\circ} + 3\hat{v}^{\circ} = 18\hat{v}^{\circ}$ BÂC+ 90°=180° BÂC= 180° BAC-9396

BAC=go (proved) then, (BA) h (Ac) (ST) L (S) (gives). Thus, ST) 11 (AB) (2 straight lines to the some straight line are parallel). 3) a) In D's ABO and OTS we have, 1) A'OB=TOS-90° (Sistle symmetricit. A with respect bo BC]). 2) Sisthesymmetric of A with respect to [BC] =) OS=OA. 3)a(AB) 11(ST)(proved) =) BAO = OST (Alternating Interior angles between 2 parallel straight lines). Thus D's are congruent by ASFI properly. 0, B and T are collinear (O betonys to 1813) OB=OT (corresponding elements). 700 OistRemidpoint of BT b) Inquadrilateral ABSTWE have: OistRemidpoint of BT (proved) 9 SistResymmetric of Awith respect to [BC] (given) → OistRemidpoint of [SA] SU, ABSTisaparm Chaingib diagonals bisect eachother at the some midpoint) Since SB the symmetric of A with respect to [B] gives SU, (AS) 1 (BC) and, OistRemidpoint of SA (proved)

ond, o is the the midpoint of [BT] (proved). =) (As) the of (BT) - porm ABST is or hombus having aparm + diagonals which are the of each other.) (4)a) $3\hat{A}C + \hat{A}\hat{C}O + \hat{A}\hat{\partial}C = 18\hat{O}(\text{sum of ang lesin } D = 18\hat{O})$ $S\hat{A}C + 3\hat{O}^2 + 9\hat{O} = 18\hat{O}^2$ SAC+120=180° SAC= 180°-120° Finally, SAC= 60°. b) (BC) 1 (AS) (diagonalsofarbombus). + OB the midpuint of (AST (proved). : (CO) represent the perp for [AS] c) In D ASCWehave; (co) is a height relative to CAS] (given) but (co) is the the [As] (proved) =) ASC is an isoscles D having a sneight which is also a the SO, CASECSA=60° then, CAS+CSA+ ACS= 180° (sum of anglesin a D=180). 60°+60°+ACS= 180° 120°+A25=183 A25-180°-1200 ACS-60° Thus, DASC is an equilatual D having 3 equal angles = 60° .

b) Engladrilateral ASDM we have ; b) Cisthe midpuint of EAD]; DistRe symptric of A with respect to C. Eisthemidpoint of [SM] Misthe symmetric of Swith respect to C. so, ASDM is a parmhaving its diagonals bisecteach other at the some midpoint but, AC=CS (sides of on equilateral D) (proved), and AC=CD =) AC=CS=CD but, SC=CM and, CAZCS =) SC=CM=CA SC=CM=CA=CI asaresult, AD=SM(sumof equals are equal). i parm ASDHisa rectangle having a parm + equal diagonals. Rabih Khaker